;is a constant in our model, therefore a changewil change & proportionally.

This implies that we can write the Net Exports dsrection of the nominal exchange

rate instead of the real exchange ratéX(e), with %<O, an increase

(decrease) in the nominal exchange rate will decredsergase) the Trade Balance.
TheMundell-Fleming M odel

We use an IS-LM model where now we have an extra fa the IS curve that is
given by NX €). Differently from the standard IS-LM model thatsvderived in the

(r-Y)-space, the Mundell-Fleming model is derived in tfeY) space. The reason is
given by assumptions 1) and 2) made before. Untmet assumptions the domestic
interest rate (r) is always equal to the world ries¢ rate (), therefore it cannot be
determined in the domestic country. This meanswleatonsider the domestic interest

rate as given in our analysis. The first buildidgdk is given by the IS cur in an

open economy. We denote the IS curve in an opemoecy as | ;g@ ent
nts of this open

from the IS curve derived in a closed economy. gﬂ\@

economy IS curve are: Note
Real Interest Rate: =r” .‘ Om O—‘ ,sz
Consumptl&r, ‘@t\NZ =C(Y - 2
In\P ent functioni = I(R a
Government expenditure exogenoGs:
Net Exports functionNX € )
The National Identity in an open economy gives us:
Y=C+Il+G+NX

Using the function defined above into that we aftai

Y=C(Y-T)+I(r)+G+NX(e) 1)
Equation 1) implicitly defines a relationship beemethe nominal exchange rate and
the level of Real Income in the goods market (igifhyi because we are working with
general functional form, for example we do not knewplicitly the consumption
function or the net exports function). Equationglyes us implicitly the 1Sfor a
small open economy when there is perfect capitddilityp What is the relationship

betweene andY implied by 1)? Negative or positive? We know itgsing to be



e IM*

equilibrium
exchange ——
rate

. Is*
equilibrium Y

level of
income

Floating and Fixed Exchange Rates

In a system ofloating exchangerates, e is allowed to fluctuate in response to
changing economic conditions. In contrast, uridead exchangerates, the central
bank trades domestic for foreign currency at agtexthined price. In this case
suppose the central bank wants to maintain a fex@thange rate betvéen t
pound and the US dollar, for examplea lto 1 ewgbaag‘@[l r=1Pound.
Let's focus only on the trade balance
&case

Exports from UK to US| fi
need to convi There re6U0n wpresents aupply of dollars
a \’f r pounds. P ag

Importsto UK from US: in this case UK importers convert their pounds idollars

s receive dollars thatythe

to pay for the US goods imported. Therefore we hthat imports in this case
represents demand for dollars and asupply of pounds.

Sterilisation to keep Fixed the Exchange Rate

If a country wants to keep a fixed exchange ratgime the central bank must
intervene in the foreign exchange market every timere is a tendency for the
exchange rate to move away from the fixed rate pSsg that the UK central bank

wants to keep a fixed exchange rate between thedpand the dollars at the leve).
Now, suppose that at the exchange ggt@e have that in UK, NX<0.

This means that ag,we have imports (M) greater than exports (X). Inm® of

demand and supply of pounds: now there is an exafesspply for pounds (and an

excess of demand for dollars).



